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Instructions !

i) This question paper is divided into three
parts, A, Band C.

ii) - “First question of each part is multiple
choice type. Four alternative answers are
given in.each. Select the correct answer and
writé down in your answer-book

iiij Artempt all the questions of each part
together at one place. Each part should be
attempted on a new page.

iv) All questions are compulsory.

v)] Marks of the questions are mentioned
against them. |

vi) IHlustrate your answers with neat and
labelled diagrams and chemical equations

wherever necessary.
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PART - A
1. %) aEe 990 % HeE W awg 1 A S
I & ii) @
i EETI
) 5 R 1ii) LeLeeiprg
i) IU & 9 :
i) I W v} ! '
iv) W 1 1. a) The image of an object placed at the
) F= K T wmemt o weerer w1 me T focus of a concave mirror, is formed
ol § i) at the centre of curvature
i) @A '
.. : i1} behind the mirror
i) S H |
iv) fetifeT o : 1 iv) at the pole 1
‘M 5 AW oy AR W 9 ey w3 o b) Speed of light is minimum in the
mmmmmmm eereeeeenns. IDEAIUM, |
i) é | iy  diamond
i) 20 3m H)  water
i) 25 3H i) glass
iv) 13y : 1 1v) kerosene 1
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Resistance wire of 5 Q is cut into five

equal parts. The resistance of each part

will be

. 1.

1) = 2

n} 20Q

mjy 2-5Q

v) 10 : 1

The unit of electric powér is
i) Voit

ii) watt

iii} ampere

iv) - ohm 1
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Why is convex mirror used in vehicles ?

| 2
Focal length of a concave lens is 30 cm.
At what distance an object is to be
placed from the lens so that image of
the object is formed at a .dist.'anc.e of
20 cm from the lens ? 2
What is the defect of short-

sightedness ? How is it eliminated ? 2
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In order to form real and magnified

image of an object by a concave mirror,
show the position of the object by a ray
diagram. 4
OR :
Virtual image of an object is formed by

-4 convex lens. Explain it by a ray

diagram. , 9
What is the unit of resistance ? The
resistance of a wire of length- L and

thickness A is. 10 . Find out the

resistance of another wire of the same

material whose length is L/3 and of

thickness 3A. _ 4
OR

Three resistors are joined in series.

Obtain the formula for the equivalent

resistance of the combination. 4
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Explain the principle and working process

of an _clectric generator by a labelled .

diagram. __ 7
OR

On what factors does the force act'ing on a
current carrying conductor in magnetic
field, depend ? Clarify the law for the

direction of force acting on the conductor.
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PILE G
ii C,HO
iii) C,H,0
g €
i B
i) S

i)

iv)

i)

iv)

C,H,O

C,H;O

Li
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Propanal is
ij C,HO
iii) C,HgO
Metal is

iy B
i) St

i)

iv)

ii}

v) .

A
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CACT

C,H0

C,HO

Li
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............. forms hydrogen gas with cold

dilute acid.

i) Silica i) Copper
iii)  Zinc iv) Carbon . ]
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Write the method of preparation and
property of Baking soda. | 2

What do you understand by pH value ?
What is the hydrogen ion concentration

in pure water ? 2

Write modern periodic law and also
write  two of this

periodic table. 2
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7. a) Differentiate between saturated and

unsaturated hydrocarbons. 2

b) Differentiate between mineral and ore. 2
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1+2+2+72

8. Write notes on the following :

a) Substitution reactions in organic

compounds. 2

76830 @ OF [ Turn over

824{BL)
b)
c)
9. &)
g
76830

Previous Pathshala

12

Covalent bonding In ~ organic

compounds. 2

IUPAC system of nomenclature of
organic compounds. . 3
OR
Write chemical equations of one
method of preparation and three
chemical properties of Ethanoic acid. |
1+2+24+2
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M FrEfeiEa 1 - S e 3 e | o Which of the following genotypes

| L el § 2 represents pure round seeds ?
W) ) Tt bt i) Tt
iii) T " iv) RR | 1 i) T iv) RR 1
W) WRE F e w1 FE R § | d) The function of xylem in plants is
i) St goy et w1 GawA ij conduction of excretory waste
i) S & 8T ' products |
ii) W W HEe ' ii) conduction of water
iv) 3= 3-'!“-(_-11[ EaR:Crof 1 iii) translocation of food
9. aj Number of chromoesomes in huma_n : ivj translocation of amino acids 1
is ' | - 10, %) Hed & WA & YR T Y F2 TSt
i) 42 CH) a4 - . T R L+1

@ WHF IS AR S A ym 2 2
M 9 H e @ Segifer 7 See it )
2

i) 46 iv]- 48 1
b) Which is not a part of female ' genital

system in human from the following ?
_ 10. a) Explain dominant and recessive traits
i}  Ovary '

| on the basis of Mendel's experiments.
i) Uterus

1+1
i) Vas deferens | bj What is the role of saliva in the
iv) Fallopian tube 1 digestion of food ? Z
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Describe the utility of stomata in

_plants. 2
R T CWEET AT R IR e

HHART | 2+2
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Explain analogous and homologous

organs with examples. 2+2
OR

Through what does the conduction of

water in plants taken place 2" Explain

its mechanism. 1+ 3
eoF [ Turn over

12,

12,

16
b} What is heart ? Explain that it works
like a pump in short. 1+3
OR _
What are the permanent methods of
family planning ? Write short notes on

any two. 2+2

i T =t ST e @t soerE FiR 7

3+4
Explain the basic concepts of organic
evolution. _ 7
OR

Draw a labelled diagram of a human

"digestive system. Describe the process of

digestion. 3+4
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